THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid OCAT WRWA 2205 Ended At Apr 3, 2024 10:00:00 AM CDT CONSTRUCTION/OCAT - LED Street and Parking Lot Lighting for OCAT

Company:	LIBRA EL	ECTRIC				
OCAT WRWA 2205	\$1,627,346	00				
TOTAL BID:	\$1,627,346	00				
Tresha Willia	ams	Chad Harri	son	_	Tim Alvarez	
City Clerk		Purchasing	Agent	Au	ditor	
Potent	tial Bid Defects Noted:					
#1	Anti-collusion affidav	it not properly notari	zed			
#2	Bid Bond missing					
#3	Bid Bond incorrect av	varding agency				
#4	Bid Bond insufficient	amount				
#5	Business relationship	affidavit not properl	y notarized			

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCAT WRWA 2205 - LED Street and Parking Lot Lighting for OCAT

Start Date Feb 23, 2024 7:49:05 AM CST Awarded Date Not Yet Awarded

OCAT WRWA 220501-01 OCAT WRWA 2205: CONSTRUCTION STAKING (CONSTRUCTION SURVEY)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	Alt 1 - \$1.00	1 / lump sum	\$1.00	Υ	Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
LIBRA ELECTRIC	First Offer - \$8,655.00	1 / lump sum	\$8,655.00	Υ	Υ				
Product Code:		Supplier Product Code	2 :						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220501-02 OCAT WRWA 2205: GPS "AS-BUILT" SURVEY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	First Offer - \$2,600.00	1 / lump sum	\$2,600.00		Υ				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220501-03 OCAT WRWA 2205: COLOR AUDIO/VIDEO RECORDING, PRE AND POST CONSTRUCTION								
Supplier	Unit Price	Unit Price Qty/Unit Total Price Attch. Do						
LIBRA ELECTRIC	First Offer - \$3,380.00	1 / lump sum	\$3,380.00		Υ			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-04 OCAT WRWA 2205: CONSTRUCTION SIGNING & TRAFFIC CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	First Offer - \$6,200.00	1 / lump sum	\$6,200.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220501-05 OCAT WRWA 2205: MOBILIZATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	First Offer - \$75,334.25	1 / lump sum	\$75,334.25		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220501-06 OCAT WRWA 2205: CLEARING AND GRUBBING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	First Offer - \$8,100.00	1 / lump sum	\$8,100.00		Υ				
Product Code:	luct Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:							

OCAT WRWA 220501-07 OCAT WRWA 2205: SAW CUT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	First Offer - \$8.25	500 / linear foot	\$4,125.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 220501-08 OCAT WRWA 2205: PAVEMENT REMOVAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$27.00	500 / square yard	\$13,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-09 OCAT WRWA 2205: ASPHALT CONCRETE (2.25" TY "B", 1-3" COURSE TY "A")									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	First Offer - \$114.00	26 / ton	\$2,964.00		Υ				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220501-10 OCAT WRWA 2205: 8" CONCRETE PAVEMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$122.00	720 / square yard	\$87,840.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-11 OCAT WRWA 2205: 8" FLEX BASE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	First Offer - \$27.00	260 / square yard	\$7,020.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 220501-12 OCAT WRWA 2205: GRADING AND EARTHWORK							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LIBRA ELECTRIC	First Offer - \$8,800.00	1 / lump sum	\$8,800.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 220501-13 OCAT WRWA 2205: SLAB SOD							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LIBRA ELECTRIC	First Offer - \$4.50	2000 / square yard	\$9,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 220501-14 OCAT WRWA 2205: 1/C NO. 6 ELECTRICAL CONDUCTOR (BLACK)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LIBRA ELECTRIC	First Offer - \$1.50	6600 / linear foot	\$9,900.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 220501-15 OCAT WRWA 2205: 1/C NO. 6 ELECTRICAL CONDUCTOR (WHITE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LIBRA ELECTRIC	First Offer - \$1.50	6600 / linear foot	\$9,900.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 220501-16 OCAT WRWA 2205: 1/C NO. 6 ELECTRICAL CONDUCTOR (BARE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LIBRA ELECTRIC	First Offer - \$1.50	6600 / linear foot	\$9,900.00		Y		
Product Code:		Supplier Product Code:					

F	gency Notes:	Supplier Notes:

OCAT WRWA 220501-17 OCAT WRWA 2205: ROADWAY LUMINAIRE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LIBRA ELECTRIC	First Offer - \$667.00	359 / each	\$239,453.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 220501-18 OCAT WRWA 2205: PARKING LUMINAIRE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LIBRA ELECTRIC	First Offer - \$667.00	529 / each	\$352,843.00		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

OCAT WRWA 220501-19 OCAT WRWA 2205: LIGHT POLE 20'							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LIBRA ELECTRIC	First Offer - \$2,000.00	8 / each	\$16,000.00		Y		
Product Code:	Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:					

OCAT WRWA 220501-20 OCAT WRWA 2205: LIGHT POLE 25'							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LIBRA ELECTRIC	First Offer - \$2,150.00	58 / each	\$124,700.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 220501-21 OCAT WRWA 2205: LIGHT POLE 30'							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LIBRA ELECTRIC	First Offer - \$2,400.00	6 / each	\$14,400.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

OCAT WRWA 220501-22 OCAT WRWA 2205: LIGHT POLE 35'							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LIBRA ELECTRIC	First Offer - \$2,800.00	26 / each	\$72,800.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 220501-23 OCAT WRWA 2205: REPLACE LIGHT POLE ON EXISTING FOOTING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	First Offer - \$360.00	61 / each	\$21,960.00		Υ				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220501-24 OCAT WRWA 2205: 24" DRILLED SHAFT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$425.00	266 / linear foot	\$113,050.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-25 OCAT WRWA 2205: FOUNDATION JOINT SEALANT REPAIR							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		

LIBRA ELECTRIC	First Offer - \$675.00	20 / each	\$13,500.00	Y
Product Code:		Supplier Product Code	: :	
Agency Notes:		Supplier Notes:		

OCAT WRWA 220501-26 OCAT WRWA 2205: HANDHOLE COVER REPLACEMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$100.00	22 / each	\$2,200.00		Υ			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-27 OCAT WRWA 2205: HANDHOLE COVER MAINTENANCE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$40.00	6 / each	\$240.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-28 OCAT WRWA 2205: BASE PLATE COVER REPLACEMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$155.00	217 / each	\$33,635.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-29 OCAT WRWA 2205: BOLT CLEANING WITH ZINC PRIMER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$5,300.00	1 / lump sum	\$5,300.00		Υ			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-30 OCAT WRWA 2205: CONCRETE FOUNDATION PATCHING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	First Offer - \$2,700.00	2 / each	\$5,400.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220501-31 OCAT WRWA 2205: 2" PVC SCH. 40 PLASTIC CONDUIT TRENCH								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$30.00	1590 / linear foot	\$47,700.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-32 OCAT WRWA 2205: 2" PVC SCH. 40 PLASTIC CONDUIT BORE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	First Offer - \$16.00	7545 / linear foot	\$120,720.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 220501-33 OCAT WRWA 2205: 1/C NO. 8 ELECTRICAL CONDUCTOR									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	First Offer - \$1.15	5270 / linear foot	\$6,060.50		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 220501-34 OCAT WRWA 2205: 1/C NO. 8 ELECTRICAL CONDUCTOR (BARE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$1.15	2635 / linear foot	\$3,030.25		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-35 OCAT WRWA 2205: PULL BOX TYPE I								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$830.00	38 / each	\$31,540.00		Y			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-36 OCAT WRWA 2205: 6-AWG ALUMINUM DUPLEX CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$2.00	980 / linear foot	\$1,960.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-37 OCAT WRWA 2205: SURGE SUPPRESSOR								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$1,800.00	41 / each	\$73,800.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-38 OCAT WRWA 2205: WIRING CLEAN-UP (AT LIGHTING CONTROLLER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$750.00	1 / each	\$750.00		Y			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-39 OCAT WRWA 2205: TIME CLOCK								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$570.00	6 / each	\$3,420.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-40 OCAT WRWA 2205: PHOTOCELL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$105.00	6 / each	\$630.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

OCAT WRWA 220501-41 OCAT WRWA 2205: CONTACTOR REPLACEMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$800.00	14 / each	\$11,200.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-42 OCAT WRWA 2205: PLASTIC KO FILLER									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
LIBRA ELECTRIC	First Offer - \$45.00	2 / each	\$90.00		Υ				
Product Code:		Supplier Product Code	:						

Agency Notes: Supplier Notes:

OCAT WRWA 220501-43 OCAT WRWA 2205: BREAKER PANEL REPLACEMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$5,500.00	4 / each	\$22,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-44 OCAT WRWA 2205: ON/OFF SWITCH FOR MANUAL OVERRIDE OPERATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$500.00	3 / each	\$1,500.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-45 OCAT WRWA 2205: ELECTRICAL WIRING REPLACEMENT (AT LIGHTING CONTROLLER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LIBRA ELECTRIC	First Offer - \$650.00	1 / each	\$650.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 220501-46 OCAT WRWA 2205: ELECTRICAL SERVICE CABINET (NEMA RATED)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
LIBRA ELECTRIC	First Offer - \$4,500.00	1 / each	\$4,500.00		Y	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				

OCAT WRWA 220501-47 OCAT WRWA 2205: Spare Luminaires (For Maintenance)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LIBRA ELECTRIC	First Offer - \$950.00	25 / each	\$23,750.00		Υ		
Product Code:		Supplier Product Code	e:	·			
Agency Notes:		Supplier Notes:					

Supplier Totals

f LIBRA ELECT	TRIC	\$1,627,346.00 (47/47 items)	
Bid Contact	David Ware sales@libraelectric.net Ph 405-949-9371 Fax 405-949-9373	Address 4634 ENTERPRISE DRIVE OKLAHOMA CITY, OK 73128	
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes			Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid OCAT-WRWA-2409 Ended At Apr 3, 2024 10:00:00 AM CDT CONSTRUCTION/OCAT - Federal Inspection Services Facility Buildout

Downey Contracting, L.L.C.		
\$9,384,500.00		
\$9,384,500.00		
		Tim Alvarez
	\$9,384,500.00 \$9,384,500.00 Chad Ha	\$9,384,500.00 \$9,384,500.00 Chad Harrison

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCAT-WRWA-2409 - Federal Inspection Services Facility Buildout

Start Date Feb 23, 2024 7:49:05 AM CST Awarded Date Not Yet Awarded

OCAT-WRWA-240901-01 OCAT-WRWA-2409 - Base Bid						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Downey Contracting, L.L.C.	First Offer - \$9,384,500.00	1 / lump sum	\$9,384,500.00	Υ	Y	
Product Code: Supplier Product Code:						
Agency Notes:	Supplier Notes:					

Supplier Totals

f Downey Contracting, L.L.C. \$9,384,500.00				
Bid Contact	Sheila Stovall dshaw@downeycontracting.com Ph 405-478-5277	Address 3217 NE 63rd Street Oklahoma City, OK 73121		
Qualifications	OKC PRE-QUALIFIED CONTRACTORS			
Agency Notes:			Head Attch:	

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.